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Name: #: * Show your Work * Date:

1. Twenty-three students went to the library. 2. Apples cost fifteen cents a pound. Pears cost
Ten of them used computers. The rest looked at | five cents a pound more. How much do pears cost?
books. How many looked at books?

3. A large school bus can carry 40 students. A 4. A boy washed two pans, four pots and eight
small school bus can carry half as many. How plates. How many things did he wash?
many students can the small bus carry?




Circle the numbers that go together.

N

L

¥

cones SCOOPS necklaces beads
8 7 _ ‘ 2 2 9
7 10 5 5 - 3 16
9 4 3 12 _ 20
boats sails bowls fish
3 12 5 20
7 16 L} 12
6 9 8 16
)
CRAVONS
D
boxes crayons baskets apples
4 24 2 5
2 6 3 15
3 12 5 20
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Name: #:

5. One morning, here were eight cars parked ona
street. The owners drove two of the cars away.
How many cars were left on the street?

younger. How old is Ruby?

7. Ms. Telebrico has twelve dollars. Mrs. Lee
gave her five more dollars. How much money does
Ms. Telebrico have in all?

8. A clown is holding eight red balloons and nine blue
balloons. How many balloons is the clown holding in
all?
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Name: #.

Date: !

9. Mrs. Telebrico runs three miles a day five
days aweek. How many miles does she run ina
week?

10. A 8:.a< bar costs fifteen cents. How much
change will you receive if you pay for the candy bar

with two dimes? .

11. There are one hundred cookies in a box. Ms.
Telebrico ate twelve of them. How many are
left?

12. A freeis eighteen inches fall. How tall would it
be if it grew six more inches?

g



= 1, circle those groups that equal 8.

If C——J=2and U
low each group that is circled.

Write an equation be

EXAMPLE

2+2+2+2=8

© Creative Publications
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Name: H w;@' Date:

N glui\hV\l/»uw\/.\/ n_.\/

N
.

13. In the morning, there were thirty-five boxes 14. Ms. Telebrico has thirty-eight bottles to

of cereal on a store shelf. At the end of the day, | recycle. Mrs. Lee has forty-two bottles fo recycle.
there were only seven left. How many boxes of How many bottles in all do they have to recycle?
cereal were sold that day?

15. Ms. Telebrico found that there are four 16. The students in a class are divided into four

quarts of water in a bucket. How many quarts of | teams of six students each. How many students are
water are in five buckets? in the class?




- smoy ui axenbg




~ €102-210¢
Apsuuay] ‘SIN

'spJom o[qe[[Asnnul Je[n8al pue Sp.Iom sussuou a[qe[IAs-om) apode( €T
-(10d/dns = [9M0A-}URUOSUOD /JURUOSUOD-[2MOA
«10d/nS = [0MOA-}URUOSUOD-[9MOA “8'3) So[nl uones1qe[|4s otseq jo a8pajmouy Addy 7’1
sgurjjods [pmoa [erads ‘sSuoyiydip “8'3) sutoned Surjads Jo s§pajmous] asn pue oz[udodsy T'T
uoniuboray p.aosl pub buiporaq

:passalppy Spiepuels

IaUuUulp G
pugs 'y
Aemysty °g
[njIopuoMm g

oueidaitre '
SO[qe[[AS G 9 9] /300 epdurexy
'SO[(B[[AS 9] SPIAIP 0} SIS M BJINS J0U 91 NOA JT ATeUOT)OIp © 9S[)

‘SB[ PIOM [[OBS SO[e[[AS AUBUL MOY 9JLIM USY], o[ e[[AS oBd
usomjaq [oquuAs (/) ysers e 3urynd Aq pIom Yoed SpIAI( SB[,

G 9911081 UOL)BIIQR[[AS

PYe(] Ft QUIE N



mww%%%%%%%%%%%%%%%km%%%%n%%%%%%%%mmm%%%%@%ﬁ%

LY
»

OO u o uu

UL O UG UL OO

P oy 0 ab g Al o

Y
[N}

3 vké Oy \VV Y ‘\ \'i W

o “

Ay

9¢ 2J0USHIPTE
@ © @ 9 swoib 005 (@ swiniboly

@ /@ ® 5 swoib g ()  swoibopy 05

% % % _ff iybBiom Jaspis ub pinom yonw moy inoqy ‘9
ORORONOM !

@ @ @ I spunod 0/ (@ suoj /£ (@

T smsuy | spunod / (9) soouno 00/ (V)

éybiem 103 D PINOM UdNW MOY noqy

h @ | @ ¢ ® 8 @

éionba siuid g¢ op suojpb Aubw moy ‘uojipb | Ul stuld g 34D 349YS I h

1

wut @ Q) punod (@ uojipb (¥)

éN00a b 4o ybiom ay4 |jo4 0L @SN NOA PINOM JUBSWISINSDIW JO LUM YIIYM °€

R @ ol () e @ ARC)

ésidonb ¢ Ul asays a4p sdnd Aupw moy ‘Lapnb | Ul sdnd f 84 8BY4 4T T

S % e

"JOMSUD 1331402 3y} oG pjnom suojipb os ‘|iows 0o
21p sdn> ‘suojpb 10 sdn> asn pjNOM am ‘SpINbI| DINSDBW OF "D SI JBMSUD BY[

Suoy suojipb (9 sdnd spunod (Y)
EaNIY4Dg INOA Uj JOLOM
10 JUNOWID BY 2INSDBW 0f 2SN NOA PINOM LUDLUSINSDDW JO LIUA UDIYM

{f pe {A, o, £ % B e . s s eme g c P = f =
ALDdDT pun LU, - LUDWSINSDBW [Z7# LS8 SO0

i T g€ S




T PO R VB e e Rl

£-888€ AS 'z SV 9fendue] 60'[ Auedwo) uySnep-4osls @

uoisusyaidwod pue s|IpS %ood :yb1a Hun

| @ 7/\) ‘sbed 1xeu 8y} 01 uo 0H

‘paq J1vy} ul des|se punos
918M ‘90USMOUS paweu ‘saigeq dn-umoJb Jsy JO auo pue |[egmous
‘Yo suigges oml AjUo siem 8ieyl ‘SuIoYy Jusm diey "SI UsUM
Wb sy oy yonw AseA digy "SI\ pexueyl foau1 pue ‘Addey AieA
SEM BUOAIBAT "UBIP|IYO Syl pue SI8ydes} syl O} Sliqqel su} aneb
aysg "esnoy Jay Jesu |0oyos 8y} 01 slqgel 8yl 4001 8US ‘slqael
sy} Jo swos Aeme sAIb 01 paplosp diey| “spy dn maub suggel
Ageq syl U0OS “|lEgMoug 0} dn pafiseu siqqgel Ageq aAl} punoy
pUE Pag s|lll| S.|[EAMOUS O} JoA0 Juam diay "SI Buluiow suQ
18d 108118d 8y) SEM
nqqge. Aynys v “Addey Aien sem digy "SIN "esnoy sul punoJe doy
lay paydsiem pue |[[egMmous Ylim pafe|d syg ‘||legMOUS paWeu 8ys
UoIYM ‘LCEJ 8U} 10} pag S|l B spew 8ys Sway 106 8ys UsuM
| ‘Hqqes e
Ang pjnom ays pepiosp digy "SI Iqqel suum Auny) ‘1ey e mes sys
‘a18y] 106 8ys uaym jng ‘saiddnd pue susiy ayi 1e 400| O} alois 1ed
ay} 0} Juem ays -Auedwod Jsy dosy 01 1od e pajuem digy "SI\
| sjed o Awaid

;24101s lod ay} 1e 196 d|a)| "SI\ seop 12d jo puj 1eym
‘peal NoA se uolsenb sy} iInoge Yulyl ‘A101S 8yl pesy 2

[Suoeq uppodun Buikuusp)

areq aweN



£-888¢€ AS ‘Z SHy a8engue OI -[ Auedwod uysnea-1o91s ©

uoisuayaidwo) pue s|ipis yoog :ubig uun

noj *p
%? “ | 981yl "o
oMl *q
| U0 "B

¢, deay digy "SI DIP SHQQEJ AUBW MOH ¥

gf;;.) | yiesl eAll "p

SI81SIS Al "D
sAol oAl *q
Salgeq oAl "B
¢ 8ABY |[BgMOUS PIP 1BUM '€

QZ? | Hqges p

asnow "9
Addnd -q

7 usup| e

e wbnog sys g

ley p
asnoy "o

@7 Jod "q
S= pusly e

B pajuem digy ‘SIN L

 JOMSUE 1081109 8} O
JUOJ} Ul J8118| 8y 8jo4ID "Al0iS 8y} Inoge uonsanb yoes Jemsuy &2

s Juppodw BuiAjyuspi

ale( ; j SWweN




